Error Patterns and Algorithms. name:
For each problem, analyze what the student is doing, do the next 2 computations the way the student would do

them, and then explain.
Addition examples:
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.



4, vsg 141 H59
o1 $3a1 ¢lgk 3l€3 189
hw (e¢a W79 5

f—
+
DN =

Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.

6. Choose one of the addition errors in the examples above, and write about how you would help the
student correct that error. :

a. Which example are you focusing on?

b. If you were to go back to using manipulatives (such as base 10 blocks) to help the child fix his or her
error, describe what that might look and sound like.



Subtraction Examples:
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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12. Choose one of the subtraction errors in the examples above, and write about how you would help
the student correct that error.

a. Which example are you focusing on?

b. If you were to go back to using manipulatives (such as base 10 blocks) to help the child fix his or her
error, describe what that might look and sound like.



